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Quiz 21 1a) 2 b) 1NT c) 2 d) 3 

 2)  1NT 3)  2 4) 2 5)  2 

Quiz 22 1a) 6 b) Hearts c) 4, J d) 9 e) N  K1062 S 93 

 2a) 4 b) Hearts c) J d) 7 e) North 

 3a) 5 b) 3 c) Q 

Quiz 23 1a) 3 b) No c) Clubs d) 10 

 2a) 4 b) No c) Hearts d) Diamonds e) 9 or 10 

 3a) 3 b) Yes c) Spades d) 11 (must discard the immediate loser) 

Quiz 24 1a) Takeout b) Takeout c) Penalty d) Penalty e) Takeout 

 2 Final 

Contract 

Number 

of 

Tricks 

Not Vulnerable Vulnerable 

Undoubled Doubled Redoubled Undoubled Doubled Redoubled 

2 9 110 280 760 110 380 1160 

4 7 -150 -500 -1000 -300 -800 -1600 

3 9 140 530 760 140 730 960 

5 9 -100 -300 -600 -200 -500 -1000 

Quiz 25 1 (NT) a) 3 b) 3 c) 10 d) Q e) 2 f) 2 g) 8 h) Q i) J j) K 

    (Suit)     3     A     10     Q     A     2     8     Q    J     K 

 2a) Q b)  8 (attempt to find partner’s best suit) c) 5 d) J 

 3a) 4 (unbid suit) b) A c) Q d) 2 (you don’t want ruffs with these trump!) 

Quiz 26 1a) Pass b) 2 c) 3NT d) 2 e) 4 

 2a) Pass b) 3 c) 3 d) 3 (transfer) 

       3NT     3NT     4 

 3a) Pass b) 4 

 4a) 3 b) 4 

Quiz 27 1a) 2 b) 2 c) 3 d) 2 

 2a) 2NT b) 2 c) 2 d) 3NT 

 3a) 2 2 b) 2 2 

      2NT Pass     2NT 3 

       3 4 

 4a) 2(classic) b) 1 (no good suit) c) 2NT d) 2(another classic) 

 5a) 3 b) 2NT c) 3 d) 4 

Quiz 28 

   1a)  2  b)  2  c)  1(shape)  d) 2 

   2a)  3  b)  4  c)  Pass   d) 3NT 

   3)    3  b)  3  c)  3   d) 3 

 

Quiz 29 1a) 1 1 b) 1 2 c) Pass 1  

      1NT Pass     2NT 3NT     1 3 

       Pass      4 Pass 

 d) 1 1 e) 1 1 f) Pass 1 

     1 3     1NT 3NT     1NT 2 

     4 Pass         Pass      2 Pass  

Quiz 30 1a) 4 b) 3 

 2a) 2NT b) 3 (upgrade because of well-placed club honours) 

       Pass     2 (no upgrade this time) 

 3a) 2 b) 3 

       2      1 

 4)  Pass (the diamond holding is worthless) 

 


